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Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 

Paper Code 
5 6 9 
(To be filled in the  

OMR Sheet) 

Á’uiqfLrdk Øekad 
Question Booklet No. 

Á’uiqfLrdk lhjht 
Question Booklet Series 

A 
O.M.R. Serial No.         

 

tc rd dgk u tk;] bl Á’uiqfLrdk dks u [kksysa 

56
9 



Series-A B.Sc. - B100101T/ 569 Page - 2 

Rough Work / jQ dk;Z 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Series-A B.Sc. - B100101T/ 569 Page - 3 

1. Chromatids coiling in the meiotic 

and mitotic division is _____. 

(A) Plectonemic in both  

(B) Paranemic in both 

(C) Paranemic in mitosis and 

plectonemic in meiosis   

(D) Plectonemic in mitosis and 

paranemic in meiosis  

 1. v/kZlw+=h foHkktu vkSj lelw=h foHkktu esa 

tek gksus okys ØkseSfVM_____gksrs gSaA 

(A) nksuksa esa IysDVksusfed 

(B) nksuksa esa iSjkusfed 

(C) lelw=h foHkktu esa iSjkusfed vkSj 

v/kZlw=h foHkktu esa IysDVksusfed 

(D) lelw=h foHkktu esa IysDVksusfed vkSj 

v/kZlw=h foHkktu esa iSjkusfed 

2. ____ is the number of DNA in 

chromosome at G2 stage of the 

cell cycle.  

(A)   1 

(B) 2 

(C) 3 

(D) 0 

 2. ____ dksf’kdk pØ ds G2 pj.k esa xq.klw= 

esa Mh,u, dh la[;k gSA  

(A) 1 

(B) 2 

(C) 3 

(D) 0 

3. Cancer is caused by-  

(A)   Uncontrolled mitosis 

(B) Uncontrolled meiosis  

(C) Rupturing of cells  

(D) Loss of immunity of cells  

 3. dSalj fdlds dkj.k gksrk gS\ 

(A) vfu;af=r lelw=.k 

(B) vfu;af=r  v/kZlw=.k 

(C) dksf’kdkvksa ds VwVus ds dkj.k 

(D) dksf’kdkvksa dh izfrjks/kd {kerk ds 

iru ds dkj.k 

4. A person who receives an extra 

chromosome, could have- 

(A)   Heightened intelligence  

(B) Down’s syndrome  

(C) Red eye  

(D) Polygenic traits  

 4. ,d O;fDr tks ,d vfrfjDr xq.klw= izkIr 

djrk gS] gks ldrk gS fd & 

(A) c<+h gqbZ cqf) 

(B) Mkmu flaMªkse 

(C) yky vka[ksa 

(D) ikWyhtsfud y{k.k 
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5. Alleles are- 

(A)   Alternate forms of genes  

(B) Linked genes  

(C) Chromosomes that have 

crossed over  

(D) Homologous chromosomes  

 5. ,yhYl gSa& 

(A) thu ds oSdfYid :i  

(B) fyaDM thu 

(C) xq.klw= tks ikj gks x, gSa  

(D) eqrkfcd xq.klw= 

6. The largest cell organelle in the 

cell are- 

(A)   Plastids  

(B) Golgi bodies  

(C) Mitochondria  

(D) Chromosomes  

 6. dksf’kdk esa lcls cM+s dksf’kdkax gSa& 

(A) IykfLVM 

(B) xksYxh ckWMh 

(C) ekbVksdkWfUMª;k  

(D) xq.klw= 

7. This is not a function of 

Mitochondria-  

(A)   Fatty acid breakdown  

(B) Non-shivering thermogenesis  

(C) Electron transport chain and 

associated ATP production  

(D) Glycolysis and associated 

ATP production  

 7. ;g ekbVksdkWfUMª;k dk dk;Z ugha gS& 

(A) QSVh ,flM VwVuk 

(B) xSj& daidaih FkeksZtsusfll 

(C) bysDVªkWu ifjogu J̀a[kyk vkSj lac) 

,Vhih mRiknu 

(D) Xykbdksykbfll vkSj lac) ,Vhih 

mRiknu 

8. Which of the following cell 

organelles contains RNA- 

(A)   Mitochondria  

(B) Plastids  

(C) Lysosomes  

(D) Ribosomes  

 8. 

 

 

fuEufyf[kr esa ls fdl dksf’kdkax esa RNA 

gksrk gS\ 

(A) ekbVksdkWfUMª;k 

(B) IykfLVM~l  

(C) ykblkslkse 

(D) jkbckslkse 
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9. Which of the following cell 

organelles is called the 

powerhouse of the cell?   

(A)   Nucleus  

(B) Lysosomes  

(C) Chloroplast  

(D) Mitochondria  

 9. fuEufyf[kr esa ls fdl dksf’kdkax dks 

dksf’kdk dk ikojgkml dgk tkrk gS \ 

(A) U;wfDy;l  

(B) ykblkslkse 

(C) DyksjksIykLV 

(D) ekbVksdkWfUMª;k 

10. Which of following is a single 

membrane-bound organelles?  

(A)   Vacuoles  

(B) Golgi apparatus  

(C) Endoplasmic reticulum  

(D) All of above  

 10. fuEufyf[kr esa ls dkSu&lk ,dy 

f>Yyh&c) vaxd gS\ 

(A) fjfDrdk  

(B) xksYxh midj.k  

(C) ,aMksIykfTed jsfVdqye  

(D) mijksDr lHkh 

11. Which of the following two 
organelles look most alike 
structurally? 
(A)   Nucleus and vesicle  
(B) Golgi apparatus and SER  
(C) Vacuole and cytoskeleton  
(D) Lysosome and chloroplast  

 11. fuEu esa dkSu ls nks vaxd leku lajpuk ds 

gS& 

(A) dsanzd vkSj olkbfdy 

(B) xkWYxh vijsVl vkSj fpduh dksf’kdh; 

nzO; tkfydk   

(C) oSD;wy vkSj lkbVksLdsysVu 

(D) ykblkslkse vkSj DyksjksIykLV 

12. A sampled ‘a’ population has 36% 
of homozygous recessive genotype 
(aa). Then the frequency of allele 
‘a’is - 
(A)   0% 
(B) 20% 
(C) 60% 
(D) 70% 

 12. ,d uewuk *,* vkcknh esa gkseksthul fjlsflo 

¼,,½ dk 36% gSA rc ,yhy *,* dh vkòfŸk 

gS& 

(A)   0% 
(B) 20% 
(C) 60% 
(D) 70% 
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13. The structure of DNZ by ______ 

received Noble Prize in 1962. 

(A)   Maurice Wilkins  

(B) Rosalind Franklin  

(C) Francis Crick  

(D) Erwin Chargaff  

 13. ______ }kjk Mh,u, dh lajpuk dks 1962 

esa ukscsy iqjLdkj feykA  

(A) ekSfjl fofYdal  

(B) jkslkfyaM ÝSadfyu 

(C) Ýkafll fØd  

(D) bjfou pkjxkQ 

14. What branch of Biology focuses 

on the study of patterns of 

inheritance?  

(A)   Genetics  

(B) Immunology  

(C) Evolution  

(D) Ecology  

 14. tho foKku dh dkSu lh ‘kk[kk oa’kkuqØe ds 

iSVuZ ds v/;;u ij dsfUnzr gS\ 

(A) vuqoaf’kdh  

(B) bE;wuksykWth 

(C) fodkl 

(D) ikfjfLFkfrdh  

15. What does ݌ଶin below mentioned 

Hardy-Weinberg equation 

indicate(݌ + ଶ(ݍ = ଶ݌ + ݍ݌2 +  ଶݍ

(A)   Individuals that are 

heterozygous dominant  

(B) Individuals having a lethal 

allele   

(C) Individuals with homozygous 

dominant  

(D) Individuals that are 

homozygous recessive  

 15. uhps fn, x, gkMhZ&osucxZ lehdj.k esa 

 &ଶD;k n’kkZrk gS݌

݌) + ଶ(ݍ = ଶ݌ + ݍ݌2 +  ଶݍ

(A) O;fDr tks fo”ke;qXeth izeq[k gS 

(B) ,d ?kkrd ,yhy okys O;fDr  

(C) O;fDr tks le;qXed izHkko’kkyh gSa 

(D) O;fDr tks le:i vizHkko’kkyh gSa 
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16. What technique in plant Biology 

was used by Gregar Mendel to 

derive the pattern of Inheritance- 

(A)   Hybridization  

(B) Mutagenesis 

(C) Exportation  

(D) Importation 

 16. ikni tho foKku esa xszxj esaMy us oa’kkuqØe 

esa iSVuZ dks izkIr djus ds fy, fdl 

rduhd dk mi;ksx fd;k Fkk\ 

(A) ladj.k 

(B) mRifjorZu 

(C) fu;kZr 

(D) vk;kr 

17. In order to study the inheritance of 

two genes, the parents should be 

true-breeding for ______. 

(A)   A single contrasting 

characters.  

(B) A pair of contrasting 

characters  

(C) A pair of chromosomes  

(D) A single chromosome  

 17. nks thuksa dh fojklr dk v/;;u djus ds 

fy,] ekrk&firk ---------------- ds fy, lgh 

iztuu gksuk pkfg,A 

(A) ,d gh foijhr o.kZ 

(B) foijhr ik=ks dh ,d tksM+h 

(C) xq.klw=ksa dh ,d tksM+h 

(D) ,d ,dy xq.klw= 

18. A cross involving variation in two 
different traits is called_____.   
(A)   Monohybrid cross  
(B) Dihybrid cross 
(C) Hybrid cross 
(D) Polyhybrid cross 

 18. nks vyx&vyx y{k.kksa esa fHkUurk okys ØkWl 

dks ----------------- dgk tkrk gSA 

(A) eksuksgkbfczM ØkWl 

(B) MkbgkbfczM ØkWl 

(C) gkbfczM ØkWl 

(D) ikWyhgkbfczM ØkWl 
19. Hardy-Weinberg equilibrium 

operates in the absence of - 
(A)   Gene flow  
(B) Mutation  
(C) Natural selection  
(D) All of these  

 19. gkMhZ&osucxZ larqyu dh vuqifLFkfr esa 

lapkfyr gksrk gS& 

(A) thu izokg 

(B) mRifjorZu 

(C) izk—frd p;u 

(D) ;s lHkh 
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20. Who was responsible for the 

theory of chromosomal 

inheritance?  

(A)   Crick and Watson  

(B) Newton and Einstein  

(C) Sutton and Boveri  

(D) Franklin and Wilkins  

 20. xq.klw= oa’kkuqØe ds fl)kar ds fy, dkSu 

ftEesnkj Fkk \ 

(A) fØd vkSj okWVlau 

(B) U;wVu vkSj vkbaLVhu 

(C) lVu vkSj cksosjh 

(D) ÝSadfyu vkSj fofYdal 

21. Which model organism was used 

to verify the chromosomal theory 

of inheritance?  

(A)   Felis domestica   

(B) Drosophila melanogaster  

(C) Homo sapiens  

(D) Rattus rattus   

 21. oa’kkuqØe ds xq.klw= fl+)kar dks lR;kfir 

djus ds fy, fdl tho dk mi;ksx fd;k 

x;k Fkk\ 

(A) Qsfyl MksesfLVdk 

(B) MªkWlksfQyk esykuksxkLVj 

(C) gkseks lsfi;al 

(D) jSVl jSVl 

22. What is chromosome walking? 

(A)   Hybridization technique  

(B) Sequencing technique  

(C) Genetic marker  

(D) Chemical degradation 

technique  

 22. xq.klw= pyuk D;k gS\ 

(A) ladj.k rduhd  

(B) vuqØe.k rduhd 

(C) tsusfVd ekdZj 

(D) jklk;fud {kj.k 

23. What is the unit of a genetic map?  

(A)   Centimeter  

(B) Nanometer 

(C) Angstrom  

(D) Centimorgan  

 23. vkuqoaf’kd ekufp= dh bdkbZ D;k gS\ 

(A) lasaVhehVj 

(B) uSuksehVj 

(C) vkaxLVªkWe 

(D) lsaVhekWxZu 
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24. What is the full form of RFLP?  

(A)   Restriction fragment length 

polymorphism  

(B) Random fragment length 

polymorphism  

(C) Restriction find in length of 

DNA polymer  

(D) Restriction fragment length 

polymers 

 24. vkj,Q,yih dk iw.kZ :i D;k gS\ 

(A) izfrca/k VqdM+k yackbZ cgq:irk 

(B) ;knf̀PNd VqdM+k yackbZ cgq:irk  

(C) Mh,u, ikWfyej dh yackbZ esa [kkstsa 

(D) izfrca/k VqdM+k yackbZ ikWyhej 

25. Chromosomes found in the 

salivary gland of Drosophila is- 

(A)   Lampbrush  

(B) Polytene  

(C) Supernumerary  

(D) B-chromosomes  

 25. MªkWlksfQyk dh ykj xzafFk esa ik, tkus okys 

xq.klw= gSa& 

(A) ySEicz’k 

(B) ikWfyVhu 

(C) Qkyrw 

(D) ch&xq.klw= 

26. Centromere is that part of 

chromosome where- 

(A)   Nucleoli are formed  

(B) Crossing over takes place  

(C) Chromatids are attached  

(D) Nicking occurs 

 26. lsaVªksfe;j xq.klw= dk og Hkkx gS tgk¡& 

(A) ukfHkd curs gSa  

(B) ØkWflax vksoj gksrk gS 

(C) ØksesfVM tqM+s gq, gSa 

(D) fufdax gksrk gS 

27. Puffs or Bibliyanirings in salivary 

gland chromosome are site of ___. 

(A)   DNA replication  

(B) DNA duplication  

(C) RNA synthesis  

(D) Protein synthesis  

 27. ykj xzafFk xq.klw= esa Qq¶Qql ;k fcyfc;kuh 

oy; fdldk LFky gS\ 

(A) nku izfr—fr 

(B) Mh,u, nksgjko 

(C) vkj,u, la’ys”k.k 

(D) izksVhu la’ys”k.k 
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28. Name the mapping technique used 

to determine the position of 

restriction sites in a DNA 

molecule- 

(A)   Genetic map  

(B) Restriction mapping  

(C) Biochemical markers  

(D) DNA markers  

 28. ,d Mh,u, v.kq esa izfrca/k LFkyksa dh fLFkfr 

fu/kkZfjr djus ds fy, mi;ksx dh tkus okyh 

ekufp=.k rduhd dk uke crk,¡\ 

(A) vkuqoaf’kd uD’kk 

(B) izfrca/k ekufp=.k 

(C) tSo jklk;fud ekdZj 

(D) Mh,u, ekdZj 

29. Gene of colour blindness in man is 
located on-  
(A)   X-chromosome only 
(B) Y-chromosome only 
(C) Either X-chromosome or Y-

chromosome  
(D) Both X and Y chromosome  

 29. euq”; esa o.kkZU/krk ds fy, thu fLFkr gS& 

(A) dsoy X-xq.klw= 

(B) dsoy Y-xq.klw=  

(C) ;k rks X-xq.klw= ;k Y-xq.klw=  

(D) X vkSj Y nksuksa xq.klw= 

30. A somatic cell in human male 
contains- 
(A)   No gene on sex chromosome  
(B) Only one –sex-linked gene 

for each character  
(C) Two genes for every sex 

linked character  
(D) Genes on only sex 

chromosome  

 30. ekuo uj esa ,d nSfgd dksf’kdk esa gksrk gS& 

(A) fyax xq.klw= ij dksbZ thu ugha 

(B) izR;sd o.kZ ds fy, dsoy ,d fyax 

fyaDM thu  

(C) gj fyax ls tqMs+ pfj= ds fy, nks 

thu 

(D) dsoy fyax xq.klw=ksa ij thu 

31. Chromosomal constitution in 
human female can be best written 
as- 
(A)   46 
(B) 44+2 
(C) 44A+XX 
(D) 44A+XY 

 31. ekuo eknk esa Øksekslksey lafo/kku dks lcls 

vPNk fy[kk tk ldrk gS& 

(A)   46 
(B) 44+2 
(C) 44A+XX 
(D) 44A+XY 
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32. Giant chromosome with a number 

of chromonemeta is-  

(A)   Lampbrush chromosome  

(B) Hetrochromosome  

(C) Supernumerary chromosome  

(D) Polytene chromosome 

 32. dbZ ØkseksuesVk ds lkFk fo’kkydk; xq.klw= 

gS& 

(A) ySEicz’k xq.klw= 

(B) gsVªksØksekslkse 

(C) lqijU;wesjh Øksekslkse  

(D) ikWyhVhu xq.klw= 

33. Complete linkage is found is- 

(A)   Birds  

(B) Snakes  

(C) Female drosophila  

(D) Male drosophila  

 33. iw.kZ tqM+ko ik;k tkrk gS& 

(A) if{k;ksa 

(B) lkai 

(C) efgyk MªkslksfQyk 

(D) uj MªkslksfQyk 

34. The genes of different traits 

located on different loci on the 

same chromosome are-  

(A)   Alleles  

(B) Linked  

(C) Pleiomorphic  

(D) Mutated  

 34. ,d gh xq.klw= ij fofHkUu LFkkuksa ij fLFkr 

fofHkUu y{k.kksa ds tho gSa& 

(A) tsusfVd rRo 

(B) tqM+s gq, 

(C) fIy;ksekWfQZd 

(D) mRifjofrZr  

35. Crossing over occurs between- 

(A)   Two non-sister chromatids of 

homologous pair of 

chromosome  

(B) Two chromatids of any 

chromosome 

(C) Two chromatids of same 

chromosome  

(D) All of these  

 35. ØkWflax vksoj ds chp gksrk gS& 

(A) xq.klw=ksa ds ,d letkr ;qXe ds nks 

xSj cgu ØkseSfVM~l  

(B) fdlh Hkh xq.klw= ds nks ØkseSfVM 

(C) ,d gh xq.klw= ds nks ØkseSfVM 

(D) lHkh iwoZxkeh 
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36. Mendelian recombination’s are 

due to- 

(A)   Mutation 

(B) Linkage  

(C) Crossing over 

(D) Independent assortment of 

characters  

 36. esaMsfy;u iqulZa;kstu fdlds dkj.k gksrs gSa& 

(A) mRifjorZu 

(B) dM+h 

(C) cnyrs gq, 

(D) ik=ks dk Lora= oxhZdj.k 

37. The blue green algae and bacteria 

contain-  

(A)   One linkage group  

(B) Two linkage group 

(C) Three linkage group  

(D) None of the above  

 37. uhys gjs ‘kSoky vkSj cSfDVfj;k esa gksrs gSa& 

(A) ,d tqM+koh lewg 

(B) nks fyadst lewg 

(C) rhu fyadst lewg  

(D) buesa dksbZ ugha 

38. Sickel cell anemia is an example 

of- 

(A)   Epistasis  

(B) Co-dominance  

(C) Pleiotropy  

(D) Incomplete dominance   

 38. fldy lsy ,uhfe;k dk ,d mnkgj.k gS& 

(A) ,fiLVsfll  

(B) dksfMusal  

(C) fIy;ksVªkWih 

(D) v/kwjk izHkqRo 

39. A chromosome with a very short 

arm and a very long arm is 

referred to as-  

(A)   Metacentric  

(B) Telocentric  

(C) Acrocentric  

(D) Sub-metacentric  

 39. cgqr NksVh Hkqtk vkSj cgqr yach Hkqtk okys 

xq.klw= dks dgk tkrk gS& 

(A) esVklsafVªd  

(B) nwjchu 

(C) ,ØkslsafVªd 

(D) mi&esVklsafVªd 
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40. The diagramatic representation of 

karyotype of a species is known 

as-  

(A)   Cladogram  

(B) Ecogram  

(C) Chromogram  

(D) Idiogram  

 40. fdlh iztkfr ds dSj;ksVkbi ds vkjs[k.k dks 

dgk tkrk gS\ 

(A) DySMksxzke 

(B) bdksxzke 

(C) Økseksxzke 

(D) bfM;ksxzke 

41. Euchromatin is- 

(A)   Lightly stain   

(B) Partially condensed  

(C) Genetically active chromatin 

with genes 

(D) All of above  

 41. ;wØkseSfVu& 

(A) gYds nkx 

(B) vkaf’kd :i ls la?kfur gS 

(C) thu ds lkFk vkuqoaf’kd :i ls 

lfØ;  

(D) mijksDr lHkh 

42. In which typical stage Lampbrush 

chromosomes observed?   

(A)   Meiotic prophage  

(B) Mitotic metaphage  

(C) Mitotic prophage  

(D) Mitotic anaphage  

 42. ySEicz’k xq.klw= fdl fof’k”V voLFkk esa ns[ks 

tkrs gSa\ 

(A) v/kZlw=h foHkktu 

(B) ekbVksfVd esVkQst 

(C) ekbVksfVd izksQst 

(D) ekbVksfVd ,ukQst  

43. Women rarely experienced sex-

linked defects because they must 

be- 

(A)   Homozygous  

(B) Carrier 

(C) Heterozygous  

(D) Develop immunity  

 43. efgykvksa dks ‘kk;n gh dHkh lsDl ls tqM+s 

nks”kksa dk vuqHko gksrk gS D;ksfd mUgsa gksuk 

pkfg,& 

(A) le;qXed 

(B) okgd 

(C) fo”ke;qXeth  

(D) izfrj{kk fodflr djuk 
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44. Chromosomal basis of sex 

determination was discovered in- 

(A)   Melandrium  

(B) Rumex  

(C) Sphaerocarpus  

(D) Coccinea  

 44. fyax fu/kkZj.k dk xq.klw= vk/kkj [kkstk x;k 

Fkk& 

(A) esykafMª;e 

(B) :esDl 

(C) LQsjksdkiZl 

(D) dksfdfu;k 

45. The term Golgi apparatus was 

coined by- 

(A)   Camillo Golgi  

(B) Robert Brown  

(C) Robert Hook  

(D) Benda  

 45. xksYxh midj.k ‘kCn fdlds }kjk x<+k x;k 

Fkk& 

(A) dSfeyks xksYxh  

(B) jkWcVZ czkmu 

(C) jkWcVZ gqd 

(D) csaMk 

46. In 70 ‘S’ ribosome ‘S’ stands for- 

(A)   S.I. unit  

(B) Solubility factor  

(C) Svedberg unit 

(D) None of these  

 46. 70 ‘S’ esa jkbckslkse ‘S’ dk vFkZ gS& 

(A) ,lŒ vkbZŒ ;wfuV 

(B) ?kqyu’khyrk dkjd 

(C) LosMcxZ ;wfuV 

(D) buesa dksbZ ugha 

47. The rough ER is specially well 

developed in cells actively 

engaged in- 

(A)   Protein synthesis  

(B) Nucleotide synthesis  

(C) Lipid synthesis  

(D) Secretory functions 

 47. jQ bZŒ vkjŒ fo’ks”k :i ls yxs dksf’kdkvksa 

esa vPNh rjg ls fodflr gksrk gS& 

(A) izksVhu la’ys”k.k 

(B) U;wfDy;ksVkbM la’ys”k.k 

(C) fyfiM la’ys”k.k 

(D) L=koh dk;Z 
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48. The nucleus contains-  

(A)   Mitochondria  

(B) Golgi apparatus  

(C) Chromosomes  

(D) Lysosomes  

 48. ukfHkd esa gksrk gS 

(A) ekbVksdkWfUMª;k 

(B) xkYxh midj.k 

(C) xq.klw= 

(D) ykblkslkse 

49. Which of the following disorder is 

an example of-  

(A)   Sickle cell anaemia  

(B) Down’s syndrome  

(C) Night blindness  

(D) Thalassemia  

 49. fuEu esa dekSu&lk fodkj fcanq mRifjorZu 

dk mnkgj.k gS& 

(A) fldy lsy ,uhfe;k 

(B) Mkmu flaMªkse 

(C) jrkSa/kh 

(D) FkSyslhfe;k 

50. An abnormal human male 

phenotype involving an extra X-

chromosome (XXY) is a care of :- 

(A)   Edward’s syndrome  

(B) Klinefelter’s syndrome  

(C) Intersex  

(D) Down’s syndrome  

 50. ,d vlkekU; ekuo iq:”k QsuksVkbi ftlesa 

,d vfrfjDr X-xq.klw= (XXY) ‘kkfey gS] 

,d ekeyk gS& 

(A) ,MoMZ flaMªkse 

(B) DykbuQsYVj flaMªkse 

(C) baVjlsDl 

(D) Mkmu flaMªkse 
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51. Which of the following is not a 

hereditary disease?  

(A)   Cystic fibrosis 

(B) Thalassaemia  

(C) Haemophilia  

(D) Getinism  

 51. fuEu esa dkSu lk vuqokaf’kd jksx ugha gS& 

(A) flfLVd Qkbczksfll 

(B) FkSyslhfe;k 

(C) gheksfQfy;k 

(D) fØfVfuTe 

52. Centriole takes part in formation 

of- 

(A)   Nucleus  

(B) Spindle  

(C) Cell plate  

(D) To start cell division  

 52. lsafVªvksy fdlds xBu esa Hkkx ysrk gS\ 

(A) ukfHkd 

(B) /kqjk 

(C) dksf’kdk dh Fkkyh 

(D) dksf’kdk foHkktu ‘kq: djus ds fy, 

53. Cell theory is not applicable to- 

(A)   Fungi  

(B) Microbes 

(C) Algae  

(D) Virus  

 53. dksf’kdk fl)kar ykxw ugh gksrk gS& 

(A) dod  

(B) jksxk.kqvksa 

(C) ‘kSoky 

(D) okbjl 

54. Digestive enzymes are present in-  

(A)   Ribosome  

(B) Lysosome  

(C) Liposome  

(D) Mitochondria  

 54. ikpu ,atkbe &&& esa ekStwn gksrs gSa& 

(A) jkbckslkse 

(B) ykblkslkse 

(C) fyfiM 

(D) ekbVksdkWfUMª;k 

55. Glycocalyx is associated with____ 

(A)   Ribosomes  
(B) Nucleus  
(C) Plasma membrane  
(D) Cell wall 

 55. XykbdksdSfyDl ____ ds lkFk lac) gS\ 

(A) jkbckslkse 

(B) ukfHkd 

(C) IykTek f>Yyh 

(D) lsy oky 
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56. At which cell cycle checkpoint, 

cell cycle is halted if cell’s DNA is 

damaged?   

(A)   G1-S 

(B) S-G2 

(C) G2-M 

(D) Go-G1 

 56. ;fn dksf’kdk dk Mh,u, {kfrxzLr gks tkrk 

gS] rks dksf’kdk pØ dh fdl pkSdh ij 

dksf’kdk pØ :d tkrk gS\ 

(A)   G1-S 

(B) S-G2 

(C) G2-M 

(D) Go-G1 

57. Passage of a cell through stages of 

cell cycle is controlled by a protein 

kinase that phosphorylates many 

different proteins at appropriate 

items- 

(A)   Cd-k activating activating 

kinase  

(B) Cyclin-depenent kinase   

(C) Cyclins  

(D) Tyrosine kinase  

 57. dksf’kdk pØ ds pj.kksa ds ek/;e ls ,d 

dksf’kdk dk ekxZ ,d izksVhu dkbust }kjk 

fu;af=r gksrk gS tks mfpr le; ij dbZ 

vyx&vyx izksVhuksa dks QkWLQksjkbysV djrk 

gSA 

(A) lhMh&ds dkbust dks lfØ; djrk gS 

(B) lkbfDyu&vkfJr dkbust 

(C) pØokr 

(D) Vk;jksflu dkbust 

58. Go phase is- 

(A)   Permanent state of all body 

cells  

(B) The state of most cells in an 

animal body  

(C) Another name for interphase  

(D) All of above  

 58. 

 

 

pj.k gS & 

(A) lHkh ‘kjhj dksf’kdkvksa dh ,d LFkk;h 

fLFkfr  

(B) ,d i’kq ‘kjhj esa vf/kdka’k dksf’kdkvksa 

dh fLFkfr  

(C) baVjQsl dk nwljk uke 

(D) Åij ds lHkh 
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59. Each chromosome contains two 

chromatids by the end of 

_____phase in life cycle of a 

human cell.  

(A)   C 

(B) G 

(C) M 

(D) S 

 59. ekuo dksf’kdk ds thou pØ esa _____ 

pj.k ds var esa izR;sd xq.klw= esa nks 

ØkseSfVM   

(A)   C 

(B) G 

(C) M 

(D) S 

60. DNA replication is controlled at 

which checkpoint?  

(A)   G1 

(B) G2 

(C) M 

(D) S 

 60. DNAizfr—fr dks fdl psdIokbaV ij 

fu;af=r djrs gSa\ 

(A)   G1 

(B) G2 

(C) M 

(D) S 

61. The phase of mitosis which is 

associated with the formation of 

the nuclear envelope is:- 

(A)   Prophase  

(B) Metaphase  

(C) Anaphase  

(D) Telophase 

 61. lelw=h foHkktu dk og pj.k tks ukfHkdh; 

vkoj.k ds fuekZ.k ls tqM+k gS& 

(A) izksQst 

(B) esVkQst 

(C) ,ukQst 

(D) VhyksQst  

62. cdks bind with _____ enabling the 

cdks to function as enzymes.  

(A)   MPF 

(B) Cyclins  

(C) Histones  

(D) Pହଷ 

 62. cdks _____ls tqM+dj ,atkbe ds :i esa 

dk;Z djrs gSa ;k l{ke cukrs gSaA  

(A) MPF 

(B) lkbfDyUl  

(C) fgLVksUl 

(D) Pହଷ 
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63. If DNA is damaged, which of the 

following gene arrest cell cycle? 

(A)   Rb 

(B) Pହଷ 

(C) Hedgehog receptor  

(D) Pଵ଺ 

 63. ;fnDNA {kfrxzLr gks tkrk gS] rks fuEu esa 

dkSu lk thu lsy pØ dks jksd nsrk gS& 

(A) Rb 

(B) Pହଷ 

(C) gstgkWx fjlsIVj 

(D) Pଵ଺ 

64. A fully expressed  allele is referred 

to as____ 

(A)   Dominant  

(B) Recessive  

(C) Homologous  

(D) Heterozygous  

 64. iw.kZrk ,Dlizsl ,yhy dks ____dgk tkrk 

gSA 

(A) MkWfeusaV@izeq[k 

(B) vkorhZ  

(C) le:i 

(D) fo”ke;qXeth 

65. Most of the genetic disorders are 

caused due to _____. 

(A)   Mutation  

(B) The gender of an individual  

(C) The gross chromosomal 

abnormalities 

(D) All of the above  

 65. vf/kdka’k vuqokaf’kd fodkj _____ds dkj.k 

gksrs gSaA 

(A) mRifjorZu  

(B) fdlh O;fDr dk fyax 

(C) ldy xq.klw= vlekU;rk,W 

(D) mikjksDr lHkh 

66. How many autosomes are present 

in a human being?  

(A)   20 pairs 

(B) 22 pairs 

(C) 23 pairs 

(D) 44 pairs 

 66. euq”; esa fdrus vkWVkslkse ekStwn gksrs gSa\ 

(A) 20 tksM+s 

(B) 22 tksM+s 

(C) 23 tksM+s 

(D) 44 tksM+s 
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67. Which of the following is incorrect 

with respect to mutation? 

(A)   Sudden  

(B) Continuous  

(C) Change in chromosomes and 

genes  

(D) Leads to variation in DNA  

 67. mRifjorZu ds laca/k esa fuEu esa dkSu lk 

xyr gS\ 

(A) vpkud  

(B) fujarj 

(C) xq.klw=ksa vkSj thu es ifjorZu 

(D) Mh,u, ess fHkUurk dh vksj c<+uk 

68. Which of the following is not 

responsible for the formation of 

chromosomes?  

(A)   DNA 

(B) Proteins  

(C) RNA 

(D) Endoplasmic reticulum  

 68. fuEu esa ls dkSu xq.klw=ksa ds fuekZ.k ds fy, 

mŸkjnk;h ugha gS\ 

(A) DNA 

(B) izksVhu 

(C) RNA 

(D) ,aMksIykfTed jsfVdqye 

69. Genomatic mutation is of how 

many types- 

(A)   One 

(B) Two 

(C) Three 

(D) Four  

 69. thuksesfVd E;wVs’ku@mRifjorZu fdrus izdkj 

dk gksrk gS\ 

(A) 1 

(B) 2 

(C) 3 

(D) 4 

70. Which of the following mutations 

is the most common type of 

mutation?  

(A)   Somatic mutation  

(B) Germinal mutation 

(C) Backward mutation  

(D) Forward mutation  

 70. fuEu esa ls dkSu lk mRifjorZu dk lcls 

lkekU; izdkj gS\  

(A) lksesfVd mRifjorZu 

(B) tfeZuy mRifjorZu 

(C) cSdoMZ mRifjorZu 

(D) QkWjoMZ mRifjorZu  



Series-A B.Sc. - B100101T/ 569 Page - 21 

71. Which of the following is the 

carrier of genetic information-  

(A)   Proteins  

(B) Amino acids  

(C) Carbohydrates  

(D) DNA 

 71. fuEufyf[kr esa dkSu lk vuqokaf’kd lwpuk dk 

okgd gS\ 

(A) izksVhu 

(B) vehuks ,flM 

(C) dkcksZgkbMsªV 

(D) DNA 

72. Which of the following 

characteristics of peaplants was 

not used by Mendel in his 

experiments? 

(A)   Seed colour  

(B) Seed shape  

(C) Pod length  

(D) Flower position  

 72. esaMy us vius iz;ksxksa esa eVj ds ikS/kksa dh 

fuEu esa ls fdl fo’ks”krk dk mi;ksx ugha 

fd;k Fkk\ 

(A) cht jax 

(B) cht vkdkj 

(C) Qyh dh yackbZ 

(D) Qwy dh fLFkfr 

73. A plant that exhibits two alleles for 
only one trait is called _____. 
(A)   Monohybrid  
(B) Dihybrid  
(C) Monogamous  
(D) Digamous  

 73. ,d ikS/kk tks dsoy ,d fo’ks”krk ds fy, nks 

,yhy iznf’kZr djrk gS mls &&& dgk 

tkrk gSA 

(A) eksuksgkbfczM 

(B) MkbgkbfczM 

(C) ,dkaxh@eksuksxSel 

(D) fnXHkzfer@MkbxSel 

74. Which of the following represents 

the Hardy Weinberg equation?  

(A)   pଶ + qଶ = 1 

(B) pଶ + 2pq + qଶ = 1 

(C) pଶ + qଶ = 0 

(D) (݌ଶ ଶ)ଶݍ + = 1 

 74. fuEu esa ls dkSu gkMhZ osucxZ lehdj.k dk 

izfrfuf/kRo djrk gS\ 

(A)   pଶ + qଶ = 1 

(B) pଶ + 2pq + qଶ = 1 

(C) pଶ + qଶ = 0 

(D) (݌ଶ + ଶ)ଶݍ  = 1 
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75. It is known that the total sum of all 

the frequencies of the allele is__. 

(A)   One 

(B) Two 

(C) Three  

(D) Four  

 75. ;g Kkr gS fd ,yhy dh lHkh vkòfÙk;ksa dk 

dqy ;ksx ------------------ gSA 

(A) 1 

(B) 2 

(C) 3 

(D) 4 

76. Who discovered the cell in 1965? 

(A)   Robert Hooke 

(B) Schwann  

(C) Tatum  

(D) De. Bary  

 76. 1965 esa dksf’kdk dh [kkst fdlus dh Fkh\ 

(A) jkWcVZ gqd 

(B) ‘oku 

(C) VSVe 

(D) MhŒ cSjh 

77. A jellylike substance found 

floating inside the plasma 

membrane_____.    

(A)   Cell sap  

(B) Cytoplasm  

(C) Karyoplasm  

(D) Mitochondria  

 77. ,d tsyh tSlk inkFkZ gS tks IykTek f>Yyh 

ds vanj rSjrk gqvk ik;k tkrk gS& 

(A) lsy lSi 

(B) lkbVksIykTe 

(C) dSfj;ksIykTe 

(D) ekbVksdkWfUMª;k 

78. Which of the following cell 

organelles regulates the entry and 

exit of molecules to and from the 

cell? 

(A)   Lysosomes  

(B) Golgi bodies  

(C) Cell membrane  

(D) Mitochondria  

 78. fuEu esa ls dkSu&lk dkSf’kdx dksf’kdk esa 

vkSj mlls v.kqvksa ds izos’k vkSj fudkl dks 

fu;af=r djrk gS\ 

(A) ykblkslkse 

(B) xksYxh ckWMh 

(C) dksf’kdk f>Yyh 

(D) ekbVksdkWfUMª;k 
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79. The organelle that functions in 

cellular respiration-  

(A)   Lysosome  

(B) Endoplasmic reticulum  

(C) Mitochondrion  

(D) Golgi apparatus  

 79. ;g vaxd dksf’kdh; ‘olu esa dke djrk 

gS& 

(A) ykblkslkse  

(B) ,aMksIykfTed jsfVdqye  

(C) ekbVksdkfUMª;k  

(D) xkYxh midj.k 

80. The organelle functions to package 

and deliver proteins- 

(A)   Lysosome  

(B) Endoplasmic reticulum  

(C) Mitochondrion  

(D) Golgi apparatus 

 80. og vaxd tks izksVhu dks iSd djds mldk 

forj.k djrk gS & 

(A) ykblkslkse 

(B) ,aMksIykfTed jsfVdqye  

(C) ekbVksdkWfUMª;k 

(D) xkYxh midj.k 

81. Genetic material is contained in 

which part of cell- 

(A)   Ribosome  

(B) Nucleus  

(C) Cytoplasm  

(D) Nucleolus  

 81. vuqokaf’kd inkFkZ dksf’kdk ds fdl Hkkx esa 

gksrk gS& 

(A) jkbckslkse 

(B) ukfHkd 

(C) lkbVksIykTe@dksf’kdk nzO; 

(D) U;wfDyvksyl 

82. Endoplasmic reticulum functions 

to- 

(A)   Transport material  

(B) Destroy old cell parts 

(C) Make ribosome  

(D) Package proteins  

 82. ,aMksIykfTed jsfVdqye dk dk;Z gS & 

(A) VªkaliksVZ eSVhfj;y 

(B) iqjkus lsy ds Hkkxksa dks u”V djuk 

(C) jkbckslkse cukuk 

(D) izksVhu iSdsftax 
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83. Nucleosome was first discovered 

in 1974 by- 

(A)   William Asbury  

(B) Rosalind Franklin  

(C) Roger Kornberg  

(D) John Crick  

 83. U;wfDy;kslkse dks igyh ckj 1974 esa ---------------

}kjk of.kZr fd;k x;k Fkk& 

(A) fofy;e ,lcjh 

(B) jkslfyaM ÝSadfyu 

(C) jkstj dkuZcxZ 

(D) tkWu fØd 

84. Cell organelle are located within 

which part of cell- 

(A)   Nucleus  

(B) Cytoplasm  

(C) Cell membrane  

(D) Lysosome  

 84. dksf’kdkax dksf’kdk ds Hkhrj dgk¡ fLFkr gSA  

(A) ukfHkd  

(B) dksf’kdk nzO; 

(C) dksf’kdk f>Yyh 

(D) ykblkslkse 

85. The extent of chromosome coiling 

is non-dividing cells is _____. 

(A)   Supercoiled  

(B) Euchromatin  

(C) Condensed  

(D) Heterochromatin  

 85. xSj&foHkkftr dksf’kdk esa Øksekslkse Dokfyax 

dh lhek ---------------- gSA  

(A) lqijDokWbYM 

(B) ;wØkseSfVu 

(C) la?kfur@daMsUl 

(D) gsVsjksØkseSfVu 

86. Which of the following is incorrect 

with respect of centromere- 

(A)   Constricted chromosomal 

region  

(B) Holds the sister chromatid 

together  

(C) Attaches to spindle fibres  

(D) Facilitates even distribution  

 86. lsaVªksfe;j ds laca/k esa fuEufyf[kr esa ls dkSu 

lk xyr gS\ 

(A) ladqfpr xq.klw= {ks= 

(B) flLVj ØksesfVM~l dks ,d lkFk j[krk 

gS 

(C) fLiaMy Qkbcj ls tqM+rk gS 

(D) lkeku forj.k dh lqfo/kk nsrk gS 
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87. The centromere is A/T rich region- 
(A)   True  
(B) False  
(C) May be True or may be False  
(D) It is not fixed  

 87. lsaVªksfe;j esa A/T T;knk Hkkx esa gksrs gSa& 

(A) lgh 

(B) xyr 

(C) lgh vFkok xyr nksuks 

(D) ;g fuf’pr ugha gS 

88. This organelle is responsible for 
destroying worn-out cell parts- 
(A)   Lysosome  
(B) Mitochondria  
(C) Golgi apparatus  
(D) Ribosomes  

 88. vaxd tks dksf’kdk ds Hkkxksa dks u”V djrk gS 

tks [kjkc Hkkx gksrs gS& 

(A) ykblkslkse  

(B) ekbVksdkWfUMª;k 

(C) xkYxh midj.k 

(D) jkbckslkse  

89. At which phase transcription 
occur- 
(A)   Interphase  
(B) Prophase  
(C) S-phase  
(D) G-phase  

 89. izfrys[ku@VªkalfØIlu fdl pj.k esa gksrk 

gS& 

(A) baVjQst 

(B) izksQst 

(C) ,l pj.k 

(D) th pj.k 

90. Why are chromosome condensed? 
(A)   To facilitate accommodation  
(B) Always condensed  
(C) To facilitate cell division  
(D) To facilitate diffusion in 

daughter cell  

 90. xq.klw= la?kfur D;ksa gksrsa gSa& 

(A) vkokl dh lqfo/kk ds fy,  

(B) ges’kk la?kfur jgus ds fy, 

(C) dksf’kdk foHkktu dh lqfo/kk ds fy, 

(D) csVh dksf’kdkvksa esa forj.k dh lqfo/kk 

ds fy, 

91. The rough Endoplasmic reticulum 
has ______ located on it.  
(A)   Lysosome  
(B) Cytosol  
(C) Ribosomes  
(D) Proteins  

 91. jQ ,aMksIykfTed jsfVdqye ij ---------------a 

fLFkr gksrk gS& 

(A) ykblkslkse  

(B) lkbVkslksy 

(C) jkbckslkse  

(D) izksVhu 
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92. Telomere is not related to ____.  
(A)   Maintenance  
(B) Chromosome degradation  
(C) Division 
(D) Replication 

 92. Vsyksfe;j ------------------ ls lacaf/kr ugha gSA   

(A) j[kj[kko 

(B) xq.klw= es afxjkoV 

(C) foHkktu 

(D) izfr—fr@jsfIydslu  

93. Which of the following 
designation has given to human 
female- 
(A)   XX 
(B) XY 
(C) XO 
(D) ZZ 

 93. fuEufyf[kr esa dkSu lk inuke efgyk 

xq.klw=ks dks fn;k gS& 

(A)   XX 
(B) XY 
(C) XO 
(D) ZZ 

94. In cancer telomerase activity___. 
(A)   Increases  
(B) Decreases  
(C) Remains constant  
(D) Has no role  

 94. dSalj esa fVyksejst xfrfof/k& 

(A) c<+rh gS 

(B) ?kVrh gS 

(C) fLFkj jgh gS 

(D) dksbZ Hkwfedk ugha gS 

95. Name the terms which defines the 
presence or absence of extra 
copies of a few chromosomes : 
(A)   Extranuclear inheritance  
(B) Aneuploidy  
(C) Euploidy   
(D) Diploidy  

 95. oks ‘kCn tks xq.klw=ksa dh vfrfjDr izfr;ksa dh 

mifLFkfr ;k vuqifLFkfr dks ifjHkkf”kr djrk 

gSA 

(A) ,DLVªkU;wfDy;j bugsfjVsUl 

(B) ,u;wIykbMh 

(C) ;wIykbMh 

(D) f}xqf.kr 

96. Which of the following is not the 
dye-based chromosomal banding ? 
(A)   Giesma  
(B) Reverse  
(C) Centromere  
(D) Metacentric  

 96. fuEufyf[kr esa ls dkSu MkbZ&vk/kkfjr 

Øksekslkse cSafMax ugha gS \ 

(A) fxlek 

(B) fjolZ 

(C) lsaVªksfe;j 

(D) esVklsafVªd  
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97. Identify the Mendelian disorder :  
(A)   Haemophilia  
(B) Sickele cell anaemia 
(C) Red green colour blindness  
(D) All of these  

 97. fuEu esa dkSu lk esaMsfy;u fodkj gS % 

(A) gheksQhfy;k 

(B) fldy lsy ,uhfe;k 

(C) yky gjk jax va/kkiu 

(D) mijksDr lHkh 

98. Alteration in which of the 
following chromosome shows 
Down syndrome ?   
(A)   Sex chromosome  
(B) 18 
(C) 21 
(D) 13 

 98. fuEufyf[kr esa fdl xq.klw=ksa esa ifjorZu 

Mkmu flaMªkse dks n’kkZrk gS % 

(A) lsDl Øksekslkse 

(B) 18 

(C) 21 

(D) 13 

99. ‘Omnis-Cellula e cellula’ was 
given by :  
(A)   Robert brown 
(B) Robert Hooke 
(C) Rudolph Virchow 
(D) Schleinden  

 99. ^vkseful lsyqyk b lsyqyk* dk er fdlus 

fn;k Fkk % 

(A) jkWcVZ czkmu 

(B) jkWcVZ gqd 

(C) :MkWYQ ojP;w 

(D) LykbMsu  

100. Cell which lose their nucleus 
during differentiation are :   
(A)   Never cells  
(B) Muscle cells  
(C) Erythrocytes  
(D) Leucocytes 

 100. os dksf’kdk,¡ tks foHksnu ds nkSjku viuk 

dsanzd [kks nsrh gSa % 

(A) raf=dk dksf’kdk,¡  

(B) eak’kisf’k;ksa dh dksf’kdk,¡ 

(C) ,fjFkzkslkbV~l 

(D) Y;wdkslkbV~l 

 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


